BSH.7... sSUBPLATES MOUNTING FOR ADH.7 TYPE PILOTED vALVES CETOP 7/NG16 =20~

BSH.7.12 with P, T, anD A, B Rear 3/4" Bsp

Single plate
for piloted valve

CETOP 7/NG16

No variant

JEEL

Serial No.

Weight: 5,5 Kg
Fixing screws M8x55 UNI 5931

3/4" BSP rear connectors

101.6
140
160

172

\S)
9.2

10]

30

117

128

44

94

BSH.7.13 witH P, T anp A,B REAR 1" BsP

Single plate
for piloted valve

CETOP 7/NG16

1" BSP rear connectors

No variant

Serial No.

SISREIERE

Weight: 4,7 Kg
Fixing screws M8x55 UNI 5931

)
<
o

13.05

60

\

© ©
e s
% e Q}
% s ?

S

o
L1y

o
;
A
e
49.2
10|
L)rr
‘
‘
=
n
M
i 4\
R
[ Vo]
[
$13.5
=
i
=X
e

), ©

n

@

94

BSH.7.14 with P, T anp A, B sibe 3/4" Bsp

Single plate
for piloted valve

CETOP 7/NG16

No variant

3/4" BSP side connectors

54

SISREICRE

Serial No.

Weight: 6,3 Kg
Fixing screws M8x55 UNI 5931

101.6
140
160

50

56

10|

e 55

brevini
fluid power




brevini

BSH.7... SUBPLATES MOUNTING FOR ADH.7 TYPE PILOTED VALVES CETOP 7/NG16 =£@p= Drevini

BSH.7.15 witH P,T anp A, B sipe 1" Bsp

Single plate
for piloted valve

CETOP 7/NG16
1" BSP side connectors
No variant

Serial No.

JEE

Weight: 6,3 Kg
Fixing screws M8x55 UNI 5931

|
V"‘"\ 1/4”BSP
IR

101.8
140
160

iv.z
10|

Y

Single plate
for piloted valve

CETOP 7/NG16

3/4" BSP rear and
side connectors

No variant

Serial No.

SISREIERE

Weight: 5,1 Kg
Fixing screws M8x50 UNI 5931

13.05

101.6
140

29.2
10|

160

56

e

gy

40.5

BSH.7.17 witH P AND T REAR, A AND B siDE 1" Bsp, X AND Y REAR

Single plate
for piloted valve

CETOP 7/NG16

1" BSP rear and
side connectors

No variant

Serial No.

—

Weight: 5,3 Kg
Fixing screws M8x55 UNI 5931

13.05

101.6
140
160

10l

| o 56



